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4 1 Gk FH 10,000
4 1 Gk 7t 16,500
4 1 T |[[BEELSH 18,700
4 | 10 B Rt FH 5,000
4 | 19 %8 2B (HEHERE) 10,000
5 | 14 %8 2B (ERUEEFZRE) 2,960
5 | 15 %8 H1LE(GRUERR) 10,460
5 | 22 Bt FH 10,000
5 | 27 = jt,ﬁﬁii’éiﬁAﬁﬂh%% 10,000
5 | 27 ZDfth B (BT f) 2,950
6 1 B éiﬂi 5,000
6 | 10 %8 SR (ERHBEMESEE) 19,000
6 | 12 B Rt FH 10,000
6 | 14 B f#1E 17,105
6 | 28 %8 BLTECKE) 9,570
7 4 = BT AZREROE=IOXBEE 6,220
7 4 %8 KB (RiFHIRR) 23,000
7 5 Hia H I E (RiFHhigiaain) 2,660
7 | 10 = 2B (ERUEBR) 1,100
7 | 12 7ia 2B (BB SEERE) 4,160
7 | 20 = BEXBH= 6,000
7 | 30 %8 HrEFESRSEERE) 3,800
8 Gk 7t 20,350
8 Gk FH 10,000
8 | 14 e HE (EERARYAR) 10,000
8 | 15 e HE (BHIMRARY XR) 10,000
8 | 16 Bt HE (EHBMRARYKRR) 10,000
8 | 16 Bt FH 10,000
8 | 19 %8 HLIERKR—VEERE) 10,490
9 B BE (K R) 10,000
9 7ia HE (X3 —FREH) 10,000
9 | 10 B i (RHEBETASIEE)) 16,000
9 | 30 %8 SR (ERHBEMESEE) 10,000
9 | 13 R H1E(CKEFRER) 5,192
A& &t 178,972




